=% + €C9%

<
Il
\—ld‘
X
—|©o
T}

= 009€ Jo %wel | €

=9%6 CL - 719 €0¢

= §G9 X 499 = 110°0 - 80°0¢



https://www.twinkl.com/

] S

oclN— NYOIO T~
N[O TN~

SLizel

=%l + €C9%

<
|3
1
—|
x
—|©
To)

899 o€l

=9%6 CL - 719 €0¢

89% = 80L + 09€
80L = € X 9E = %€ 0S 9€ = 009€E JO %l
09€ = 009¢€ o %0L

ot

89%

= 009¢ Jo wel | €

(09 x 59)
(s x 59)

MO*A\I
M I J| -

nm uvjinw O |
© ©OIN O |N

LTAA/

= G9 X 4G9

6 9 0°0 €

L 1L 0°'0 - ﬁ

o,\m\ho.o £

O

690°0¢€

= 110°0 - 80°0¢ l ﬂ



https://www.twinkl.com/

visit twinkl.com
Quality Standard
Approved J



https://www.twinkl.co.uk/resources/parents



